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- A

QTug - 31 /| SECTION

a'ef—re 99 / Objective Type Questiions

Uy G&IT 18/ 70 dF & UAF Uy & Qry 9w fAweq v wo & ford @ v
@el &1 s gRT g7 nv W@t fAwew & OMR ¥z v Rifgaa #¥ fa=t
35 U3l &1 FAT 71 '  35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.

You have to mark your selected option, on the OMR-Sheet. Answer any

35 questions. 35x1=35

1. W%ﬁﬁmﬁﬁ@qwmé?

(B) Temperature decreases from.the equator towards the pole

(C) Temperature :hcreases with increase in height

(D) Temperature 's low at the summit of a mountain

wﬁm(@)ﬁﬁmﬁwwmwmmwm

2.
fopaT ATAT 8 ? |
(A) AT ER (B) GHE &R
(©) ww (D) uTRfedfds &R - 0
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At which level is natural selection operated to evolve the desired

traits ?
(A) Individual level (B) Population level
(C) Community level | (D) Ecosystem level

mm%a@ﬁuﬁgﬁm-ﬁ;w-mﬁmmaﬁ%aﬂ%ﬁﬁ
muﬁmm:w&mﬁ%?ﬁ%wﬁ%ﬁam%%m

) wwr B wmwi

Cc) fr? _ ' D) FRRE

When percentage of individualé f;f pre-r*eprod-uctive, reproductive
and post—fepro_duCtive phase is in decreasing order 'in the age
pyramid of human population, it shows that population is

(A) . Expanding & ey {(B) Decreasing

h'(C) Stable ELR (D) Unstable

- F=faiga 4 | 1 Sfiaase ¥ T a) TS99 9 § 2

(Ay~ WIid HEETRE 9 98l @ i

(B) TURit

(C) vt T Tt

(D) it @ I

24 /A / XII-5009-(33/40) Page 4 / 32




(119

Which of the following reproduces once in a lifetime ?

(A)  Pacific salmon fish and bamboo

(B) Mammals

(C) Birds and mammals

(D) Litchi and mango

e ) Ui Preed: gafd Snfadl % QI-ary @ W1 S0 F1 A7 2
(A) weff Jrqas ' (B) HETYA fa9SH
(C) uehfaar (D) @@

What was the reason for co-existence of five closely related species

of warblers ?

(A) Competitive exclusion (B) Resource partitioning

(C) Parasitism (D) Commensalism

ﬁnﬁ#ﬁaaﬁaﬁq-mﬁmﬁ&mwmmmi?
B) FIIHHE

(A) HweH _
(C) It qET (D) TR

Which of the following plants produces poisonous cardiac

glycoside ?
(A) Cactus (B) Calotropts
(C) Coftee plant (D) Tobacco

1' 24 /A/ X1I1-5009-(33/40)




Jﬂ/ EEERC NG (B)

(C) ah TF S (D) ek, Sftemo] Td fersmoy
Which of the following are decomposers ?

(A)  Fungi and algae - (B) Fungi aﬁd virus

(C) Fungi and bacteria (D.) Fungi, bacteria and virus

8.  UwHI-1-UATRE i suaifiar = 2 2

(A) THFEATH IR T (B m%mﬁ
(C) HRANH U HEIH (D) AYAE H IR A
What 1s the use of alpha-1-antitrypsin ?

(A) In treatment of emphysema

(B) In*treatment of asthma

(C) - As insecticidal protein

(D) In treatment of diabetes

9. Tmfafaa d @ fera faftr gro T 3T 7 Yadq g1 2 2
(A) TTARIATH ~ (B) JTHEBERH

nucleic acid ?

(A) Transformation (B) Transfection

(C) PCR - (D) Micropropagation

' _ 24 /A /X11-5009-(33/40)
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10. @ pH W sy yhfiedia % g dvafa Hiemws fidq afea @

ST 8 P

(A) A pH (B)

(C) 3™H pH (D)

At what pH . insecticidal protein

- thuringiensis becomes active ?

(A) Acidic pH

(B) Alkaline pH
(C) Neutral pH
(D) First acidic then alkaline pH

g pH
g A T &g pH

synthesized by Bacillus

(D)

(C)

RNA interference is utilized to preven

tobacco plants. BY which vector are

ihtroduced ?

(B)

(A) Bacteriophage

(C) Escherichia coli (D)

24 /A [ XI1-5009-(33/40)

t nematode infestation 1n

nematode specific genes

Retrovirus

Agrobacterium




[ 119

o arEudt STae 6 fea feal v § e ST @

A) 20 B) 15
o 27 D) 5
How many varieties of Basmati rice are grown in India ?
A) 20 (B) . 15
(C) 27 D) 5
13 Prfifeg § ¥ 29 GeT N, sEEu Gadft HEl B STl @
S.a. % T B g o Fok S 2 2
A) fogm wg SenfEs v (B) 35 PefEn fasm
(C) S.3.THI. _ © - (D) VAN THE HET
Which of the following organizations makes decision regarding the |

validity of GM research and the safety of introducing GM

organisms ?

(A) Department of Science and Technology
(B) Department of Biotechnology
(C) GEAC

(D) Indian Patent Office

14, TRafEE TmRre a3 IFEIR A IS8 ? A
) iR B) Sasirenfi
(C) - Bia wIfd . (D) SRR

24 /A /XII-5009-(33/40)  Page & / 32
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Name of Ramdeo Mishra is associated with which field of

research ?

(A) Ecology ' . (B) Biotechnology
(C) Green revolution (D) Genetics
s FvdT % fraY WTE % WTg, YU % TIg ud Jferat fefya et € 2
(A 2TE (B) 3 W&
(C) 17 D 6WE

After how many months of pregnancy, do limbs and digits of

embryo develop ?

17 a@mﬁ%mmmmwﬁmm%?
mﬁﬂg(mm) (B) SRR




18.

19.

[ 119]

After ovulation the ovum is surrounded by a group of cells called

(A) Corona radiata (B) Zona pellucida
(C)  Granulosa cells (D) Theca layer
Prffaa F @ ®7 St o & 2

(A) I (B) ufiE IEH

(€) foftas are= (D) &

Which of the following cells is haploid ?

(A)  Oogonia (B) Primary oocyte
(C) Secondary oocyte (D) Zygote
uw Tt ™ Ty meft, St R-Rugee , 38 w91 FEd € ?
(A) TS 20 (B) SIREE

o w0 (0 Rew
A new contraceptive pill which is non-steroidal is referred as
A) LNG20  (B) Progestaset
(C) Saheli L (D) Lippes loop

(C) <9 2% (D) 3%
What is the population grdwth rate of India as per 2001 census ?
(A) 1-1% (B) 37%

(C) Approximately 2% (D) 3%

24 /A / XI1-5009-(33/40) Page 10 / 32



21, fmafafea 7 & ¥ s, mateeht gftn winta g & o

(A) e 375 (B)  v&r uq 520
) o &y (D)  &®fgr-&
Which of the following IUDs is hormone releasing ?
(A) Multiload 375 (B) LNG-20
(C) Lippes loop (D) Cu-T

22. HIV 4= 1 fha Sif¥rst o atmsmmor e 2 2
(A) BRI (B) TR
) sdifuferae wifimem (D)  T-#eat Hifdre
HIV attacks on which of the following cells ?
(A) B-cells ' (B) T-cells
(C) Epithelial cell (D)  T-helper cell

(A) @UEd (B) Trere
(C) 3= (D)  epfiftheheH

nutrients is called as

(A) Fragmentation (B) Leaching

(D) Humification

24/ A/ X11-5009-(33/40

(C) Catabolism
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(C)  20-25 fufayg f(D) ) feferrs

According to Robert

May how much is the global specig
diversity ?

(A) 7 million | (B)

15 million
(C)  20-25 million (D) 2 million
25. WA ! 9 fafowar fava 0 5o 9 fifvar o Regar shm 2 o
A)  2-4% (B) 81%
(C) 5% D) 9%

Biodiversity of India is what percentage of the total global species

diversity ?
(A)  2-4% (B) 81%
(C) 5% | (D) 9%
6. Taeaifar s it Reafors asfe™ % 200 @ ifte sifaal & e =
SHTTOT -7 4T ?
(A) Gl (B) e il w1 amEEw
(C) 3fd qr& (D) IaE &fd

s of

A R L T I T R [

What was the reason for extinction of more than 200 specie

Cichlid fish in Lake Victoria ?

Y __-'L'- 2 oy

(A) Co-extinction (B) Alien species invasion

(C) Overexploitation (D) Habitat loss

24/ A/ XI1-5009-(33/40)
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(C) Sa@E fyeR)ye (D) FaAl yan awan § 3xfy

Which of the following is not the reason for global warming ?

(A)  Use of fossil fuels
(B) Deforestation
(C)  Population explosion

(D) Improvement in the efficiency of energy use

28, fTAfdfga A @ F-aTFT I @dft & IR § @I © ?

(A) T THIT B

(B)

(C)

Dy

Which of th

farming ?

\

(A) It is cyclic ‘
(B) Zero waste 1S generated

(C)

' 1lizers
(D) Use of chemlcal fertilize — —
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29, @ﬁaﬁﬁmﬁﬁﬁmﬁaﬁqﬁﬁmmmk ?

(At B, ) faafr A

() faaih C D) faefua B,

Amount of which vitamin increases after conversion of milk 1nto
card ?

(A) Vitamin B, (B) Vitamin A

(C) Vitamin C (D) Vitamin B

30. mﬁammmwm%mﬁm@ﬁw

(D) e

Alexander Fleming discovered penicillin while working on which of

the following bacteria ?

(A) Streptococcus (B) Acetobacter

(C) Staphylococcus (D) Lactobacillus

31. ﬁm%\f@ﬁﬁﬁaﬁqaa%@ﬁa%ﬁﬁWﬁﬂw%?
(A)~ ST (B) WRIHES

(C) uhdifer (D) Vi

Which of the following ‘nhibits synthesis of cholesterol ?

(A) Protease€ (B) Stre ptokinase

(D) Statin

24 /A X11-5009-(33/40) Page 14 / 32
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B) I Hada S —
©) T (D) & yas
Capacity to generate a whole plant from a plant cell is called as
(A) Tissue 'cultufe _ (B) Pluripotency
(C) Totipoténcy - (D) Micropropagation
33, feores e el § @ frge 7w 2 2
@A) TE | B) =
©) ¥ . Dy~ g
Hisardale is a breed of which of the following animals ?
A) Cow -. . (B) Buffalo
(C) Sheep (D)  Chicken
34, mﬁamm%mammmmwwm
IR I - .
(A) IAREdd IS ® RGO
©) WUT ' (/P) FHdsh qae

WUE! i
(C) amafid gl (D) QI @
-'5009—-(33/40) Page 15 / 32
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Reason for movement of DNA fragments towards anode In

electrophoresis is DNA fragments being
(A) Negatively charged
(B) Positively charged
(C) Charged l
_ (D) Charged with charges of both types
36. frafafed § ¥ BH-71 HYF dwaw Ht TPl F IR 7 379A 2 ?

(D) < i Gl wfgEl W sfespfa Haq B 2

Which of the following statements is incorrect about DNA

replication ?
(A) DNA replication 1s semi-conservative

(B) Main enzyme for DNA replication is DNA polymerase

(C) Mutation appears due to €rror in replication

(D) Replication on both strands of DNA is continuous

37. Wﬁamwmm%aﬁm%@m%?
Ay~ FRTAT ATt (B) RTATY GTeiaist I
(C)  REAT T 11 (D) ST WAt [II

24 / A/ XI1-5009-(33/40) - T
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which of the following enzymes is responsible for transcription of

ribosomal RNA ?

(A) RNA polymerase (B) RNA polymerase I
(C) RNA polymerase Il (D) RNA polymerase III
38. g@ﬂﬁmﬂﬁé@?@ﬁmu{ﬁm@m%wﬁmﬁw
$Ed 8 ?
A)  IEIE * (B) B

©) EREE (o) Tafere

re coded by more than one€ codon. Such code 1s

Some amino acids a

known as

(A) unambiguous

(B) qofiest T FE AE
(C) mﬁsﬁqmﬁé@#
(D) mﬁmﬂ@é@#

ole of y geNc in lac operon ?

What is the r
(A) Codes for ﬁ,-galactosidase

(B) Codes for permease

(C) Codes
(D) Codes for tr

24/A/XII-5009—(33/40) S 17 / 20




(A)  embryological development

(B) comparative anatomy

(C) {ossils

(D)  divergent evolution

41.  TF 9 GTEETC A1 Uit € 2

(A) IUER foprE (B) = g faw™
(C) & uFIR faprm (D) e
What do analogous structures show ?
(A) Divergent evolution (B) Convergent evolution
(C) Parallel evolution (D) Saltation
42.  yifaefs TE-fE A ET R g 2
(A) 18,000 a¥ gd ' (B) 10,000 94 qd
(C) 75,000 ¥ gd (D) 40,000 99 & '
When did pre-historic cave art deveiop ¢
(A) 18,000 years ago (B) 10,‘000 years ago
(C) 75,000 years ago (D) 40,000 years bago

24 /A / XII-5009-(33/40)




a3 Prafeifed 7 8 B waa @ (fifem wiee) @ 2
(A) UAG (13) UGA
() AUG (D) UAA
which of the following is not a termination codon ?
(A) UAG (B) UGA
(C) AUG (D) UAA

44. mm%aﬁﬁﬁw‘wwmﬁ%?

:
5
!
:

(D)  STRTAT T FITH

What is the meaning of charging of t-RNA 2

(A) Linking of amino acid with cognate. t-RNA
(B) Attachment of . t-RNA with ribosome

(C) Translation of RNA

(D) Modification of RNA

45, FrafaRea § @ H 3rEsHES WT 2 ?
(A TgH ~(B) W@

b

(C) & | (D) <CR®MES

24 /A [ X11-5009-(33/40)
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(A)  AIDS (B) Malaria
(C) Cancer | (D) Typhoid
46 _ﬁﬁﬂ‘—rl:@aﬁﬁf%qmﬂﬁﬁmﬁd}mm.w. $Ed g ?
(A) fomprETEe - (B) W
) =afsw D) wicerE
Which of the following blood cells is known as PMNL ?
(A)  Lymphocyte ' (B), Mbn_ocyté '
(C) Neutrophil ' (D) Platelets

47.  Fafafed & @ frasht segar siergs § 94 2 -
(A) —TgA ' r (B) 1eG

(C) IgM . . | (D) IgD

Which of the following is abundantly found in colostrum ?

(A) IgA ' - (B) IgG

(C) IgM (D) IgD
48. gEUfdfed AThiA =T 8 ?

(A)  hIeA By ¥

(C) HATEATSS (D) i

What is diacetyl morphine ?

(A) Codeine (B) Heroin

(C) Cannabinoid (D) Coke

24 /A / XII-5009-(33/40)




o, frsre w0 & fow 1 oo B0 4 7 o
() e B) e
) TEE ' (D) =gt
Which fever 1s confirmed by Widal test ?
(A) Malaria , (B) Typhoid
(C) AIDS . - (D)  Pneumonia
50. Trfciied ¥/ B Nl § Hifken (qreafed) yoR ¥ fre soer @ 2 2
(A) TR (B) WehHG
© ¥ (D) T ()
Which of the following'is not responsible for vegeta_’tive propagation
of plants ?
(A) Offset ~ (B) Bulb
(C) Rhizome (D) Gemmule

51. frefaiad § @ SH-91 YA 37HA @ ? *
A AR T de b TR W kR W
B) FrIvafemEh g _ _
©) Ferfr o, STSEeh foTo % SIG IEE TR
D) FeEe i i aa Sy o 8 i
Which of the following statements is incorrect ?

(A) Antheridia are€ presenf on antheridiophore of female thallus

of Marchantia
(B) Chara is monoecious
(C) Diploid gene forms gamete after meiosis

(D) Zoospores are formed 1n Chlamydomonas

24 /A X11-5009-(33/40) Page 21 / 32
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 Prferfias @ a9 F) W F1 AR HA AR

(A) Ferpef (B) ®H
(C) TIHT (D) et
Which of the following plants is referred to as "Terror of Bengal' ?
(A) Water hyacinth (B) Bamboo
(C) Lantana (D) Parthenil.}m
3 Freffed § @ w9 oy e @ e @ 2 2
(A)  STaediiEEm (B) <dteH
() S-dl (D) HISTS R

angiospermic plant ?
(A) Vegetative cell (B) Generative cell

(C) Microspore mother cell (D)  Microspore

24 /A /XI1-5009-(33/40) Page 22 / 32
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(A) B HIREH B) 3
(C) ST Hif¥r D) dged W
Which of the following is not associated with egg apparatus ?
(A)  Synergid h B) Eag
) Antipodal cells (D) Filiform apparatus
56. HTH % §I51 H UNesh (FHEed) Y 741 Had & ?
A) YOS By €
(C) SIS (D) Yo ot
Scutellum present in the seeds of grass is called
(A) Endosperm .~ (B) Cotyledon
(C) Seed coat (D) Embryonal axis
Sfafigg § @ F e % T FAwd Fares T 8 2
@A) TSl (B) . IS
(C) pBR322 (D) <-IEY
Which of the following is not a cloning vector for bactenia ?
(A) Bacteriophage (B) Plasmid
(C) pBR322 (D) T-DNA
. Prmteran § & f Rt & GRS G H 0 TG IR F S
37 8fq fapa el & ?
A) g B)  w
Q) (D) G&T Ad: &9

g




Which of the following methods is used- to inject recombinant DNA

into nucleus of animal cell directly ? |

(A) Transfection (B) Transformation
(C) Gene gun (D)  Microinjection
59. U F yuanw ¥ FF F Y CAFH § FEIYG FA 2 2
(A) ATEEISTEH (B) deeid |
(C) ShuAud (D) wiEfeAd
For isolation of DNA a fungus is treated with which enzyme ?
(A) Lysozyme (B) Cellulase
(C) DNase (D) Chitinase
60 Frefefad § & ®19 pBR322 # TE ® ?
(A) Sfaepfd @t It B) Sidaud T
(C) -3 (D) Wicifores sferiet S
Which of the following is absent in pBR322 ?
(A) Origin of replication (B) Restriction site
(C) T-DNA (D) Antibiotic resistant genes

c1 afe e o @ Frave dpEfE R o § e fen s, ar gt

D) wdfidifem wfady ST Herd g

24 /A XI11-5009-(33/40) Page 24 / 32
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[f a foreign D " |
NA is inserted in tetracycline resistant gene, the

recombinant plasmid

(A)  WIill lose ampicillin resistance
(B) Will Iose tetracycline resistance
(C) Cloning would become easier

(D) Ampicillin resistance will become stronger

e Frafafgs § Q frg hamy & aroeerh dere aeiis s e s e 2

(A —TnefFRREE (B) YHG THicHd
(C) TANEFITTT (D) onfhawdfEr

From which of the following bacteria, thermostable DNA

polymerase 1S isolated ?
(A) ~ Agrobacterium (B)  Thermus aquaticus

(C) Methanobacterium

(B)  Bacillus thuringiensis

(D) Archaebacteria

(C) Escherichi@ € ,
_ 24 A /XII-5009"33/4°’ Page 25 / 32




© gt s D) fata frdrwe w1

In a cross between true breeding red flowered and true breeding

white flowered plants of Antirrhinum the F, generation was pink
flowered which is an exarhple of

(A) Dominance

(B) Codominance,

(C) Incomplete dominance

(D) Blending of contrasting forms of a character

65. fofiiad & @ HF HUT FEH & ?

— T p— . . -
i ] o, f“'.'m': { | R - ] E - T

(A) Characters are controlled by factors

- (B) Factors are discrete

(C) In pea, factors are in pairs

(D) Alleles blend with each other

24 /A [/ XII-5009-(33/47 -




66. T@dd AR & ey a1 Sy snum #0022
(A) TS 1 gf|yye T8 7
B) T TH & A gy w43 Ty FAT B B

(D) WTHS [ ¥ e w T gt § T &9 @ dfEg 2 2
What is the cytological basis of law of independent assortment 2

(A) There is no blending of alleles
(B) Alleles of a pair separate during gamete formation
.-f (C) - Alleles may be dominant or recessive

(D) Pair of chromosomes arrange themselves in Im

(a) A B) EeA W Sl
(c) =M (D) T
Who propounded the chromosomal theory of inheritance ?
(A) I Mendel (B) Sutton and Boven
(C) Morgan (D) Henking
68. ﬁm%rﬁéﬁﬁ@aﬁﬁm@ﬁ?lwm% ?
‘ a) o g B) FerERet g
(D)  ErHIhIeT

omal disorder ?

(B) Klinefelter's syndrome

(D) Haemophilia




09,

ST &1 X-fopwor faasds arterer fman fan »

(A) AW fafew @ dafése hwfem

(B) =% _

(C) v eHd w fve

(D) wich

Who provided X-ray diffraction data of DNA ?

(A)  Maurice Wilkins & Rosalind Franklin

(A)  Genetic material of bacteria is DNA
(B)  Genetic material of virus is DNA
(C) Genetic material of bacteria is RNA

(D) Genetic material of virus is RNA'

24/A/XII-5009-(33;)
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WY - ¥ / SECTION - B
Y ST WY / Short Answer Type Questions
gy 9T 1 ¥ 20 59 I & 1 et 10 wvA & AT d | wew % Ao

2 3’# ’%\Jﬁ?ﬁ- ? . 10 © 2 = 20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.
Each question carnes 2 marks : 10 x 2 = 20
1 iy wE fediaes Scrgehdr #1 § ? 2
E What are the primary and secondary productivities ?
T 2
2. TEEATREE?
| .
| What is Dobson unit ?
| 2
I . :
3. gﬁm@gwmwﬁaﬁwﬁﬁﬁ?
L | How aje DNA fragments separated and isolated ?
' 2
2
2
2
2

Page 29 / 32




l).

10.

1]

1.

.13

14.

15.

16.

17.

(119
e deaed favemm i 9y, wrer, doF vd ww wh AYA & foru 9T T i
LEIDE _ 2

Draw the symbols used for male, female, mating and

consanguineous mating in human pedigree analysis.

HE SN iR & o5 o/ g 7 =
What are the goals of Human Genome Project ?
31Ul wvTfaraT T @ 7 ; 2

What 1s incomplete dominance ?

mﬁwﬁﬁwwﬁmwsﬁxaﬁ 0%, a}m%mﬁf%afﬁtaﬁ
T BT ? 2

What would be the blood group of o-ffspring, if the blood group of

~mother is AB and blood group of father is O ?

HIVSH  (TqHIMAT) WAfies Eh1] hiidepd (ITSH8 wHeIEsed) @

fedtae o] SRR (YhRUst TreiaTsey) &1 8 ? 2

What are Spermatogonia, primary spermatocytes and secondary
spermatocytes ?

mifiees Mot w2 ? %é:émﬁa?{?ﬁ%'ﬂ ' 2
What are contraceptive pills ? How do they function ?

IR werad SfereT o ? ‘ | p
What is cell mediated immunity ? .

T H-U R T g N R ST RTE?  © >
What is cyclosporin-A and what 1s its use ? | |

St % w72 T FEe % S (Gfeew) § 7 wen # 2 )

What 1s the relationship between thorns of Bougainvillea and

tendrils of Cucurbita ?

24 /A / XI1-5009-(33/40) Page 30 / 32



T <6y i s 35 v e gt (fere) w3 e =7
S e & 2 2
Name the different species Of plasmodium. Which species 1S
responsible for malignant malaria ?

19. Tufy qfg w R SR H1 I9E & 2 2
Whét are the factors which affect population growth ?

- 2

24 /A /X11-5009-(33/40) | = ~- =
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Write short notes on the (ollowing :

(A) Allergy
(B) Chemical composition of DNA.
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How is gene of interest amplified by using PCR ?
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Answer the following questions : ;
(A)  Stability of DNA is higher than that of RNA. How ?

(B) What are the roles of three parts of transcription unit ?
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Write brief notes on the following :
(A) Implantation

(B) Autogamy.



